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Questions

In Pakistan, glucose is manufactured at large scale:

In Pakistan, spring maize crop is being cultivated in:

In the Punjab province, average per hectare yield of maize is:

In 1947, per hectare yield of maize in Pakistan was:

In maize production, Sindh and Baluchistan provinces:

Maize production and under cultivated area, in KPK ranks in Pakistan at:

During 2014-15, maize production in Pakistan was:

In Pakistan, during last 70 years, production of maize has:

In Pakistan, during last 70 years, area under maize crop:

In 1949, maize production of Pakistan was:

At the time of independence, area under maize cultivation was:

In maize production, Pakistan ranks among nations:

By using seed of maize in Pakistan, we can yield:

For cultivation of one acre of maize crop:

Hybrid varieties of maize:
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. From maize

. From sugar-cane
. From grapes

. From sugar-beet

. Punjab province

. Baluchistanprovince
. Allprovinces

. Not in anyprovince

. About 5975Kg
. Only 1000Kg
. 3000Kg

. 1500Kg

. 1000 Kg
. 500Kg

. 1500Kg
. 1200Kg

. Have no position

. Have prominent position

. Have significantposition

. Have very prominentposition

. 2nd position

. 4thposition

. Not any position
. 3rdposition

. 4.9 million metric tons

. More than 2million metric tons
. 3.0million metric tons

. About onemillion metric tons

. Increased by 2 times
. Increased many times
. Increased very small

. Increased by 3 time

. Increased by 5 times
. Increased many time
. Increased decreased

. 4 lakh metric tons

. Only 2 lakh metric tons

. Very small

. Less than 3 lakh metric tons

. 4 lakh hectares

. 2lakh hectares

. 2.5lakh hectares
. 3lakh hectares

. At 10th number

. At 2nd number

. At 8thnumber

. Not any important position

. 80-100 md. per acre yield

. Up to 150md. per acre yield
. 50md. per acre yield

. High amount per acre yield

. 12-18 Kg seed is required

. Only 5 Kg seed is required
. More than 20Kg seed is required
. Small quantity of seed is required

. Are more productive

. Yields very high

. Are not more productive
. Yields very low






